TECHNICAL DATASHEET

Denomination: MTA ANCHOR Codes: MTA
Referencia: FT MTA-en ‘ Date: 01/10/18 ‘Revision: 13‘ Page: 1 of 12

CHARACTERISTICS BASE MATERIAL

e Roughness working principle; installation by controlled torque.

e Use for high loads.
e Valid for two installation depths.
e Easy installation.

e Use in non-cracked concrete. SIZE RANGE

e Previous installation, or through the fixture. M6 - M24

e Use for static or quasi-static loads.

* Zinc plated version. DRILL HOLE CONDITION

e Variety of lengths and sizes, assembly flexibility.

L/ ¢ )
e Available en INDEXcal u “ iv

SECO HUMEDO INUNDADO

MAXIMUM LOADS RECOMMENDED IN NON CRACKED

APPLICATION CONCRETE [kg]

e Structural applications in non-cracked concrete. CONCRETE
€20/25

o Safety barriers.

e Billboards, machinery, boilers, signals, Steel beams, o
1887

etc. 1285

e Fixings wood structures in concrete. m .

M10 M12 M14 M16 M20 M24

APPLICATION EXAMPLES




mog

NOEX

TECHNICAL DATASHEET

Denomination: MTA ANCHOR Codes: MTA

Referencia: FT MTA-en Date: 01/10/18 |Revision: 13 Page: 2 of 12

1. RANGE

ITEM CODE SIZE PHOTO COMPONENT MATERIAL
Bolt Carbon steel cold formed, zinc-plated = 5pm
1 AM Clip Carbon steel, zinc-plated = 5pum
Nut DIN 934 class 6 I1SO 898-1 zinc-plated > 5um
Washer DIN 125, DIN 9021 o DIN 440 zinc-plated = 5um
2. ACCESSORIES
ITEM CODE PHOTO DESCRIPTION
1 DOMTA ‘;_l Accessory for anchor installation with hammer drill
3. INSTALLATION DATA
3.1. INSTALLATION DRAWING
dy
Sw N 4
W . <
A\ % Va) A 4 <
\\ — s A A A
aq yal
<
- = <
( ) sl = do
. \
PAR — pa)
\q h 4
* <
_\' - of 4 b
‘ < Pnom
N 4 "
Tmst h1

tix L




TECHNICAL DATASHEET

MTA

Denomination: MTA ANCHOR

Codes: MTA

Date: 01/10/18 Revision: 13 Page: 3 of 12

Codes: FT MTA-en

3.2. INTALLATION PARAMETERS

General installation parameters Standard installation depth Reduced installation depth

& i o A ] ] o N [ [
= o ° e s =2 £ & 5 2 ® B o < & 5 2 B
2 = 2 2 5 2 o 5 X w S o 0 £ 5 2 o 5 % kol [ = =
] © o o w = = @ 4= = c c 7] = = = = @ 4= = c & G c =
E 5 5 ®g 8 T T &8 s 38 2§ 3 g3 S T T & s 88 5 % $s
5 < £ ES E g s S o 2 22 B 8% o Eg < 2 o 4 Se T 5s T o
o © 2 a 53 o n a g o o B ) a % o n -} o © o
= £ o v 2w 38 |33 9 i 2 g =9 =8 =£ =& 3¢ S K 2 g =98 =8 = £ = ¢
2 9 = 5, 3 £s5 E, EL£ £ S Nt s S5 859 8E S5 E£E: £ T ©s £ S5 85% 88 S5
£ b 9 S £ 3 = £ @ £wm £ b7 % A H5 1EaE s =25 | =2 5 = = & % g a 2 EGS Enc EF £3
e S & S £2 & 5% 5% &5 a4 g E3 £vw 5& 5358 5& &8 =£ 4 g E3 £w S5& 558 58 &3
-] -] -] do ds Tinst Smin Chnin himin hy hoom hes trix Ser,n Cern Ser,sp Cersp himin hy hnom hes trix SerN Corn Ser,sp Cersp
[mm] [mm] [Nm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
AMO06045 M6 x 45 - - - - - - - - - 1
100 40 35 25 75 38 160 80
AMO06055 M6 x 55 - - - - - - - - - 11
AMO06060 M6 x 60 2 -
AMO06065 M6 x 65 7 -
AMO06070 M6 x 70 12 -
AMO06080 M6 x 80 22 -
AMO06085 M6 x 85 27 -
AMO06090 M6 x 90 32 -
AMO06100 M6 x 100 6 7 7 35 35 42 -
AMO06110 M6 x 110 100 55 49,5 40 52 120 60 160 80 - - - - - - - -
AMO06120 M6 x 120 62 -
AMO06130 M6 x 130 72 -
i AMO06140 M6 x 140 82 -
2 AMO06150 M6 x 150 92 -
AMO06160 M6 x 160 102 -
AMO06170 M6 x 170 112 -
AMO06180 M6 x 180 122 -
AMO08050 M8 x 50 - - - - - - - - - 100 40 35 23 4 69 35 140 70
AMO08060 M8 x 60 - - - - - - - - - 3
AMO08065 M8 x 65 - - - - - - - - - 8
AMO08075 M8 x 75 5 18
AMO08090 M8 x 90 8 9 20 40 40 20 100 <0 165 35 33 105 o3 140 20
AMO08115 M8 x 115 45 ! 43
100 65 59,5 48 144 72 192 96
AMO08120 M8 x 120 50 58
AMO08130 M8 x 130 60 63
AMO08155 M8 x 155 85 73



TECHNICAL DATASHEET

MTA

Denomination: MTA ANCHOR Codes: MTA

Codes: FT MTA-en Date: 01/10/18 Revision: 13 Page: 4 of 12

3.2. INTALLATION PARAMETERS

General installation parameters Standard installation depth Reduced installation depth
[} @
~ s 2 2 g £ E@ g Q = 2 Q: oo EP g ] =
] 8 g g I o e = = = ° = e o 8 L 2 —_ ° ®
@ s 3 3 o 2 = @ 2 & 22 5 2 £ 2 = o 2 & 22 5 & =
£ o = = 8 ° = o S - S 6 ot S 0 = ° = ] S - S 6 ot S o =
K 5 [ [ 5 o 5 c E =) ® © o O c w2 © ] c g o @ © o 9 ® w o
© S £ € & E @ e 2 o @ 29 T 2 5 T < £ w o ° 5 @ 29 TS ore T2
= o Sw 32 |58 5 5 g g oy 29 a2 Sg 58 5 s g 4 Digh ORgE Plal el FORg
= 5 2 S EE ES Ec¢ < = s £ S5 8- 8E §c& Ec¢ £ = £ £ 88 855 BE S¢g
= @ = ] = S s o s ¢ = © S = o 9 S s o ©oE o & £ £ = o £ = o O S © o o B © w
£ g g = 22 £ E5 Em E£3 e 2 o8 2 £5 EZc £5 E8 £33 & % g8 2 E§ Eg§c E3 E§
& 8 & & 2 g S S8 5= a £ E$4 Ew 58 538 5& 53 5S¢ a £ E4 £uw 58 588 &5& &3
dD df Tinst Smm cmin hmin h1 hnom hef tfix Scr,N ccr,N Scr,sp ccr,sp hmm h1 hnom hel tﬁx Scr N ccr,N Scr,sp ccr,sp
[--] [-] [--]
[mm]  [mm] [Nm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]  [mm] [mm] [mm]  [mm]
AM10065 M10 x 65 - - - - - - - - - 100 55 52 40 1 120 60 168 84
AM10070 M10 x 70 -- - - - - - - - - 3
AM10080 M10 x 80 -- - - - - - - - - 13
AM10090 M10 x 90 10 23
AM10100 M10 x 100 20 33
AM10120 M10 x 120 40 53
10 12 35 50 50
AM10140 M10 x 140 60 100 60 53,5 42 73 126 63 168 84
AM10150 M10 x 150 110 75 66,5 55 70 165 83 220 110 83
AM10160 M10 x 160 80 93
AM10170 M10x 170 90 103
AM10210 M10 x 210 130 143
<
E AM10230 M10 x 230 150 163
AM12075 M12 x 75 — — — — — — — — — 100 60 55 43 5 129 65 200 100
AM12080 M12 x 80 -- -- - - - - - - - 3
AM12090 M12 x 90 - - - - - - - - - 13
AM12100 M12 x 100 8 23
AM12110 M12 x 110 18 33
AM12120 M12 x 120 12 14 60 70 70 28 43
100 70 62 50 150 75 200 100
AM12140 M12 x 140 48 63
130 85 77 65 195 98 260 130
AM12160 = M12x 160 68 83
AM12180 = M12x 180 88 103
AM12220 M12 x 220 128 143
AM12250 = M12x 250 158 173



TECHNICAL DATASHEET

MTA

Denomination: MTA ANCHOR Codes: MTA

Codes: FT MTA-en Date: 01/10/18 Revision: 13 Page: 5 of 12

3.2. INTALLATION PARAMETERS

General installation parameters Standard installation depth Reduced installation depth
@ K Al @ o Al @ o
5 g T 8§ § 3 £ & 3 2 FE 2 g F 3 g ®
< 2 H 2 5 £ 2 s X w Do o o0 = 5] = = s X w T Q2 ) =
£ 2 = =8 § = ° S - §5 ot 5 o = s = ° S - €5 o2 S o =
K 5 © = o 5 = H o g © g o o 2 © 5 c s o g © w9 ® w o
b S E Es Eg 5 2 v 8 2 B3 % ©g Ea s 2 v 8 2 B3 S® © g
= S w S 2 S g ° ® > o — 2 =8 =z 3 = {5 S o ° = > 1} 2% =28 =gc 2 8
> S 2 g € £ [ £ ¢ < = = < 5 8 S~ 88 8 < € ¢ < = ] g S5 8= Q8F S <
= o = 5 £5 =9 =2 = T S5 ¥ S8 OgT L&E ©Sg§ == S T 8§ < = S g o953 SE S &
£ ° ] = £ 2 g £ER8 Ew» £3 s 2 g8 = 25 E8£c 235 =8 £33 2 2 38 I 5§ =8¢ 535 =4
g 8 & & £2 & s5g 5% 5= & £ E3 £vw 58 558 528 58 =5 a4 £ E3 £vw 58 558 5&8 53
-] -1 -] do ds e Smin Cnin Pmin hy Dhom het tix Scrn Cern Scrsp Cersp Pimin hy hrom het trix Sern Cern Ser,sp Cersp
[mm] [mm] [Nm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
AM14080 M14 x 80 - 100 65 59 42 5 126 63 300 150
AM14100 M14 x 100 - 100 85 79 62 5 186 93 300 150
AM14120 M14 x 120 12 -
AM14145 M14 x 145 14 16 90 80 80 37 -
AM14170 M14 x 170 150 100 91 75 62 225 113 300 150 - - - - - - - - -
AM14220 M14 x 220 112 -
AM14250 M14 x 250 142 -
AM16090 M16 x 90 - - - - - - - - - 100 75 69 49 4 147 74 260 130
AM16110 = M16x 110 = = = = = = = = = 7
AM16125 M16 x 125 3 22
<
E AM16145 M16 x 145 23 42
2 16 18 120 90 90
AM16170 M16 x 170 48 130 90 84,5 65 67 195 98 260 130
168 110 103,5 84 252 126 280 140
AM16220 M16 x 220 98 117
AM16250 M16 x 250 128 147
AM16280 M16 x 280 158 177
AM20120 M20 x 120 - - - - - - - - - 150 105 93 71 5 213 107 300 150
AM20170 M20x 170 23 47
20 22 240 135 135
AM20220 M20 x 220 206 135 125 103 73 309 155 360 180 150 107 97 75 97 225 113 300 150
AM20270 M20 x 270 123 147
AM24180 M24 x 180 10 --
24 26 250 160 160 250 155 143 125 375 188 560 280 - - - - - - - -

AM24260 M24 x 260 90 -



INDEX

TECHNICAL DATASHEET
Denomination: MTA ANCHOR Codes: MTA
Reference: FT MTA-en Date: 01/10/18 |Revision: 13 Page: 6 of 12

4. INSTALLATION PROCEDURE

4.1. CONCRETE INSTALLATION

1. DRILLING
Check the concrete is well compacted and without significant porosity.
. — i . Suitable for dry, wet and flooded holes.
Use drill in hammer mode.
: \T Drill according to specified depths in previous tables.

2. BLOW AND CLEAN
1 iNpEX =y Clean the hole from dust and concrete remains.
Use blow pump and brush.

3. INSTALL
Insert the anchorage according to data specified in previous tables.
’_L;_;_MLL Use a hammer in case of need. DOMTA tool could be used alternatively.

Installation could be performed through the fixture or before setting the

l fixture.

4. APPLY THE TORQUE

s ) () Apply the nominal torque specified in previous tables.
= Use torque wrench in order to ensure correct installation.



111N

NOEX

TECHNICAL DATASHEET

MTA

Denomination: MTA ANCHOR

Codes: MTA

Reference: FT MTA-en Date: 01/10/18 |Revision: 13 Page: 7 of 12

5. RESISTANCES

Resistances in concrete class C20/25 for an isolated anchor without spacing or concrete edge distance effects are indicated in the
following table:

5.1 CHARACTERISTIC RESISTANCE [kN]

General Parameter Standard installation depth Reduced installation depth

) X Tension Shear Tension Shear
Family Code Size
Nrk VR Nrk A
AMO06045 M6 x 45
AMO6055 M6 x 55 6,3 21 - -
AMO06060 M6 x 60
AMO06065 M6 X 65
AMO06070 M6 x 70
AMO06080 M6 x 80
AMO06085 M6 x 85
AMO06090 M6 x 90
AMO06100 M6 x 100
AMO06110 M6 x 110 74 51 - -
AMO06120 M6 x 120
AMO06130 M6 x 130
AMO06140 M6 x 140
AMO06150 M6 x 150
AMO06160 M6 x 160
AMO06170 M6 x 170
AMO06180 M6 x 180
AMO08050 M8 x 50 = - 5,5 5,5
AMO08060 M8 x 60
AMO08065 M8 x 65 - - SOl g
AMO08075 M8 x 75
AMO08090 M8 x 90
AMO08115 M8 x 115
AMO08120 M8 x 120 . - RO g
MTA AMO08130 M8 x 130
AMO08155 M8 x 155
AM10065 M10 x 65 - -- 12,7 12,7
AM10070 M10 x 70 - - 13,7 13,7
AM10080 M10 x 80
AM10090 M10 x 90
AM10100 M10 x 100
AM10120 M10 x 120
AM10140 M10 x 140
AM10150 M10 x 150 19,0 14.7 13,7 13,7
AM10160 M10 x 160
AM10170 M10 x 170
AM10210 M10 x 210
AM10230 M10 x 230
AM12075 M12 x 75 = - 14,2 14,2
AM12080 M12 x 80
AM12090 M12 x 90 - - e i
AM12100 M12 x 100
AM12110 M12 x 110
AM12120 M12 x 120
AM12140 M12 x 140
AM12160 M12 x 160 gel =i o) b
AM12180 M12 x 180
AM12220 M12 x 220
AM12250 M12 x 250



SNDEX
TECHNICAL DATASHEET
\Y WA
Denomination: MTA ANCHOR Codes: MTA
Reference: FT MTA-en Date: 01/10/18 |Revision: 13 Page: 8 of 12
General Parameter Standard installation depth Reduced installation depth
Family Code size Tension Shear Tension Shear
NRrk Vi Nri A
AM14080 M14 x 80 - - 13,7 13,7
AM14100 M14 x 100 - -- 24,6 28.1
AM14120 M14 x 120
AM14145 M14 x 145
AM14170 M14 x 170 32,8 28,1 -- -
AM14220 M14 x 220
AM14250 M14 x 250
AM16090 M16 x 90 - - 17,3 17,3
AM16110 M16 x 110 = - 26,4 38,4
AM16125 M16 x 125
MTA AM16145 M16 x 145
AM16170 M16 x 170
AM16220 M16 x 220 38,8 384 26,4 384
AM16250 M16 x 250
AM16280 M16 x 280
AM20120 M20 x 120 - -- 30,2 60,4
AM20170 M20 x 170
AM20220 M20 x 220 52,7 56,3 32,8 65,6
AM20270 M20 x 270
AM24180 M24 x 180
AM24260 M24 x 260 20,0 84.7 - -
1 KN = 100 kg

Values underlined and in italics show Steel failure, bold values concrete failure and other indicate pull out failure.




Mg

NOEX

TECHNICAL DATASHEET

MTA

Denomination: MTA ANCHOR Codes: MTA

Reference: FT MTA-en Date: 01/10/18 |Revision: 13 Page: 9 of 12

5.2 DESIGN RESISTANCE [kN]

General Parameter Standard installation depth Reduced installation depth

. . Tension Shear Tension Shear
Family Code Size
P Vrd Nrg Vrd
AMO06045 M6 x 45
AMO06055 M6 x 55 42 40 - -
AMO06060 M6 x 60
AMO06065 M6 X 65
AMO06070 M6 x 70
AMO06080 M6 x 80
AMO06085 M6 x 85
AMO06090 M6 x 90
AM06100 M6 x 100
AMO06110 M6 x 110 52 4,0 - -
AMO06120 M6 x 120
AMO06130 M6 x 130
AMO06140 M6 x 140
AMO06150 M6 x 150
AMO06160 M6 x 160
AMO06170 M6 x 170
AMO06180 M6 x 180
AMO08050 M8 x 50 = -- 3,7 3,7
AMO08060 M8 x 60
AMO8065 M8 x 65 - - e 2
AMO08075 M8 x 75
AM08090 M8 x 90
AMO08115 M8 x 115
AMO08120 M8 x 120 22 I e 2
MTA
AMO08130 M8 x 130
AMO08155 M8 x 155
AM10065 M10 x 65 - - 8,5 8,5
AM10070 M10 x 70 - - 9,1 9,1
AM10080 M10 x 80
AM10090 M10 x 90
AM10100 M10 x 100
AM10120 M10 x 120
AM10140 M10 x 140
AM10150 M10 x 150 12,6 1L7 31 31
AM10160 M10 x 160
AM10170 M10 x 170
AM10210 M10 x 210
AM10230 M10 x 230
AM12075 M12 x 75 = = 9,4 9,4
AM12080 M12 x 80
AM12090 M12 x 90 - - 11,9 11,9
AM12100 M12 x 100
AM12110 M12 x 110
AM12120 M12 x 120
AM12140 M12 x 140
AM12160 M12 x 160 et L 11,9 11,9
AM12180 M12 x 180
AM12220 M12 x 220
AM12250 M12 x 250



SNDEX
TECHNICAL DATASHEET
\Y WA
Denomination: MTA ANCHOR Codes: MTA
Reference: FT MTA-en Date: 01/10/18 Revision: 13 Page: 10 of 12
General Parameter Standard installation depth Reduced installation depth
Family Code size Tension Shear Tension Shear
NRg \ NRrd Vrd
AM14080 M14 x 80 - - 9,1 9,1
AM14100 M14 x 100 - -- 16,4 22,4
AM14120 M14 x 120
AM14145 M14 x 145
AM14170 M14 x 170 21,8 22,4 - -
AM14220 M14 x 220
AM14250 M14 x 250
AM16090 M16 x 90 - - 11,5 11,5
AM16110 M16 x 110 = - 17,6 30,7
AM16125 M16 x 125
MTA AM16145 M16 x 145
AM16170 M16 x 170
AM16220 M16 x 220 259 30.7 176 30.7
AM16250 M16 x 250
AM16280 M16 x 280
AM20120 M20 x 120 = - 20,1 40,2
AM20170 M20 x 170
AM20220 M20 x 220 35,1 45,0 21,8 43,7
AM20270 M20 x 270
AM24180 M24 x 180
AM24260 M24 x 260 27,7 67.7 - B
1 KN = 100 kg

Values underlined and in italics show Steel failure, bold values concrete failure and other indicate pull out failure.




an
L]

NOEX

TECHNICAL DATASHEET
Denomination: MTA ANCHOR Codes: MTA
Reference: FT MTA-en Date: 01/10/18 |Revision: 13| Page: 11 of 12

5.3 MAXIMUM LOADS RECOMMENDED [kN] (con y=1.4)

General Parameter Standard installation depth Reduced installation depth
Family Code size Tension Shear Tension Shear

N rec Vrec N rec VI’EC

AMO06045 M6 x 45

AMO6055 M6 x 55 3,0 23 B -

AMO06060 M6 x 60

AMO06065 M6 x 65

AMO06070 M6 x 70

AMO06080 M6 x 80

AMO06085 M6 x 85

AMO06090 M6 x 90

AMO06100 M6 x 100

AMO06110 M6 x 110 3,7 2,9 - -

AMO06120 M6 x 120

AMO06130 M6 x 130

AMO06140 M6 x 140

AMO06150 M6 x 150

AMO06160 M6 x 160

AMO06170 M6 x 170

AMO06180 M6 x 180

AMO08050 M8 x 50 = - 2,6 2,6

AMO08060 M8 x 60

AMO08065 M8 x 65 - - 47 49

AMO08075 M8 x 75

AMO08090 M8 x 90

AMO08115 M8 x 115

AM08120 M8 x 120 8L 2.3 47 49

MTA

AMO08130 M8 x 130

AMO08155 M8 x 155

AM10065 M10 x 65 - - 6,0 6,0

AM10070 M10 x 70 - - 6,5 6,5

AM10080 M10 x 80

AM10090 M10 x 90

AM10100 M10 x 100

AM10120 M10 x 120

AM10140 M10 x 140

AM10150 M10 x 150 3.0 84 6,5 6,5

AM10160 M10 x 160

AM10170 M10 x 170

AM10210 M10 x 210

AM10230 M10 x 230

AM12075 M12 x 75 = = 6,7 6,7

AM12080 M12 x 80

AM12090 M12 x 90 - - e 22

AM12100 M12 x 100

AM12110 M12 x 110

AM12120 M12 x 120

AM12140 M12 x 140

AM12160 M12 x 160 e — 82 2

AM12180 M12 x 180

AM12220 M12 x 220

AM12250 M12 x 250



SNDEX
TECHNICAL DATASHEET
\Y WA
Denomination: MTA ANCHOR Codes: MTA
Reference: FT MTA-en Date: 01/10/18 |Revision: 13| Page: 12 of 12
General Parameter Standard installation depth Reduced installation depth
Family Code size Tension Shear Tension Shear
N rec Vrec N rec VI’EC
AM14080 M14 x 80 - - 6,5 6,5
AM14100 M14 x 100 - -- 11,7 16,0
AM14120 M14 x 120
AM14145 M14 x 145
AM14170 M14 x 170 15,6 16,0 -- -
AM14220 M14 x 220
AM14250 M14 x 250
AM16090 M16 x 90 - - 8,2 8,2
AM16110 M16 x 110 = - 12,6 21,9
AM16125 M16 x 125
MTA AM16145 M16 x 145
AM16170 M16 x 170
AM16220 M16 x 220 18,5 21,9 12,6 212
AM16250 M16 x 250
AM16280 M16 x 280
AM20120 M20 x 120 = = 14,3 28,7
AM20170 M20 x 170
AM20220 M20 x 220 25,1 32,1 15,6 31,2
AM20270 M20 x 270
AM24180 M24 x 180
AM24260 M24 x 260 198 484 - -
1 KN = 100 kg

Values underlined and in italics show Steel failure, bold values concrete failure and other indicate pull out failure.




